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Instructions for Candidates :

(a) Write your Roll No. on the top immediately

on receipt of this question paper.

(b) Section A (Question 1) is compulsory and

Carries 35 marks (7x5=395).

(c) Attempt any four questions from Section

B (Question 2-7)

Parts of a question must be answered

tbgether.

(e) Symbols have their usual meanings.

P.T.O.
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(c) Define Hamilton path and Hamilton circuit.
Classify the following graph as a Hamilton

path and/or a Hamilton circuit. 5
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*>— & )
e
¢ d c e f
Gy Y Go G

(d) Define Bipartite Graph and Complete
Bipartite Graph. Check whether the graph
C, is Bipartite or not ? Justify your answer.

S
(e) Determine the humeric function for the
following generating function : 5

A(Z)=1/(5-6Z-Z))

() Show that the following system is
inconsistent : S

P>Q,Po>R, Q> -RP

(8) Use Master method to find the asymptotic
bounds for the following recurrence 5
T(n) = 2T(n/2)+n’

3 P.T.O.
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SECTION - B
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4. (a) Define planar graph. Is K; 5 planar. Justify

your Answer. For any connected planar
graph, show that v-e+r=2, where v,€ and 1
are the number of vertices, edges and
regions of the graph respectively.

(b) What do you mean py graph invariant ?
Determine whether the graphs G1 and G2
are isomorphic. R~

u4 V6

(a) (i) What is the chromatic number of C,
wheren 2 3 and km’x;?
(ii)Prove that a connected gréph is a tree
if and only if the aqumber of vertices in the
graph is one more than the number of

|-

edges. :

(b) Let f(n)=n2+4n and g(n)=n2, n > 0. Shov
that f(n)=0(g(n))

5 P.T.C
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